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1 had 2 were, would 3 go 4 were to win 5 see
6 taught

1 U BT7E O QICH s 0fS St Bl
» BAT} BHHEIS 20|22 JhEY 1A

2 W7HH BOEOE, Lis Seieor =2 o By,

st El
» A3 JHSH0| gl YS JHEst JleE R JHEY oA
3 22t OE 30| 2Tg ZHHH, 2= M HEES A AO|C
b T RAZ
4 X 2ol o|ZICtH, HEHE| L XHE S
» O[2H0f| &34 7HsA0| i Sjafst Yg 7PEE mf if=0f were
toE AtE
5 Jones ME EH QIRE THFML2.
» CH: X2

1 had the time, | would[could] do some volunteer work

2 were good, we could[would] eat outside

3 didn't have a TV in my room, | would[could] read
many books

4 were here, | couldlwould] get some advice on this
matter

5 vegetables were fresh, | would buy them
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1 were, could find things easily 2 were, would be
worth a lot 3 didn't like, wouldn't eat it
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1 were, | would put things back 2 were, | would look
for another job 3 were, | would turn it off immediately
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A @ offered ® said © would B @ if you met your
grandfather ® how could you exist @ @
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EXERCISE

A

1 had brought my wallet yesterday, | could[would]
have lent him some money

2 hadn't worn his seat belt, he would have been
injured in the car accident

3 had been careful, she wouldn't have fallen down the
stairs

4 hadn't reminded me about Mom'’s birthday, | would
have forgotten

5 had listened to his advice, we wouldn't have lost all

our money
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1 you had gone, you would be making 2 Gina had
been, | would have gone 3 | had missed, | would not
have met
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A were assassinated — had been assassinated /
might not go — might not have gone

B 7 @ had occurred ® would have caused Z if it had
collided with our planet @ @
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EXERCISE

A

11 could fix computers

2 | had learned to play an instrument
3 it weren't cold

4 | lived in a big city

5 | hadn't eaten a lot of dessert

6 | hadn't chosen to major in politics
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1 she knew Jim 2 he had seen a ghost 3 they hadn't
heard the news 4 he were Canadian 5 | were her
younger brother 6 he had come up with the idea
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1 studied 2 got promoted 3 cleaned 4 did
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A @ had known ® became B T ® were 2 as,
iffthough] @ @ the final exam @ caffeine

US| L2 ZZOAOF HHZ7[QE0| OEH X|Tt 2H3E Lo
7IER] LOHTt. RE7F DX O L% LUATH 2= & o oA
&t ZXIE FRUSKE RELL 22 IS BS5P| lshM X7 2
QI0f T3l o TLO| 2OFOF 2f oI,
» @ DAO| HEoIK| e LS JHESIEZ THEY dfE EE0I
E/0J0F &
® "t's high time + 7HF 27, 12

D7|ZIAL EY| Fo SHRTE O QI ES HIM|

CUE T A BEE A UE AR,

Do 250H0F 5h= W82l B = 5o

- LIZ OFREZER|OF.

ZAm| ot T+ o DRAO0FZL0],

20 U B2 7IHRIE HEHE dAaAZ &= 01

D H O] QARRIE &= AXME HoteTL.

D2, 4 HJH EHESHE 2 geig = U0

2 OfOE, SFX|ZHH LiZF HAIS Xt2|10 THO QIS == A o= A
SSI0]= 5= AEEO[oF,

1 > SiXio| Mol & Ql= ATS LIEHHEZ 1 wish + 799 ot

;HJEE =
2 »asiffthough] + 7P 2t74: OEX| ~Q1 24X

>w>p_a;?w;>w>w

[ oo e

EXERCISE

1 it had not been for her advice
2 he had been left alone

3 it had not been for his support
4 he helped his friends
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1 Had you told me about it earlier 2 Were it not
for[Without/But for] air 3 Had it not been for[Without/
But for] his wife's advice
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1 couldn’t have finished 2 could finish
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A would, have, replied B 1 Without[But for] 2 The
dark side would have been victorious
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REVIEW TEST 08

had not been & hadn't

A 1 were 2 had seen * Had

left

B 1 If | had some fruit
If | had worn a coat

| wouldn't have lost my job
| would have received the
message in time

C 11, could, speak 2 would, have, missed = Had,
ended 4 With, would, not, make & Without, would,
have, collapsed D@ E®

F (A) would have (B) would become (C) got

G 1 ® look — would look © His publisher had
decided — If his publisher had decided & Had his
publisher decided 2 were, to
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whose, which
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EXERCISE

A

1 She is a person whom[who] I've always looked up to.

2 Mr. Hart is an author whose books have won many
awards.

3 The hotel which was recommended by Mr. Johnson
was very nice.

4 David is a baseball player whose position is
shortstop.

5 There is the professor whom[who] | spoke to
yesterday.

6 We need a person who can speak both English and
Korean fluently.
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1 I'm listening to is 2 the man whom | met 2 which
you were looking for are 4 whose native language is
not Korean
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3 UIZF D UE T 2R At goj ACE
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1 who likes to write fantasy stories 2 whose wife owns
a restaurant
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A @ whose ® who B 1 ® who ® which © which 2 a
child whose interests included playing the violin @ @
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EXERCISE

A

1 which, that, v 2 that 3 that, v 4 whom, who, that,
v 5 which, that, v
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that 2 that, that 3 that 4 What 5 what 6 that

Li= UI7F AmyS Alshs Aa THER R
» realize? SHOZ M0l HAMES 0|T= F&At that
o

O™ 0|52 150] SuoilM 22 U= AS ] HILX| LUTE

2

» 3 I thatE2 SAf think2] SEMZ M HARE = HHIY
thatE2 ALl nothings =4loh= BAINEALE
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paintbrush (72 J12|=) 2

that[which] has running shoes, that{which] has a water
bottle in the side pocket
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1 why 2 how 2 where 4 when
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1 we used to travel to Europe 2 Sarah bought her
beautiful dress 3 John turned down the job offer
4 he cooks his delicious stew
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1 the place where a hit and run occurred
2 the way Charles spoke to him

3 why she had to leave

4 when the roads are empty and quiet
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EXERCISE
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1a 2b 3a

1 Marthats OFE0] oLt U=H, = 2AJOFO] AT
a. Martha0llAlli= 20+S0] QUCE
b. Martha OfOt= OFS0| & Ol4 QIS Z0|Ck
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1 You left your wallet in the car, which was careless of
you.

2 We bought a Lego set, whose main function was to
keep the child quiet. == We bought a Lego set, the
main function of which was to keep the child quiet.

3 | read an article about Karl Marx, who was a famous
German philosopher.

4 We went to Café Verona, where | once had coffee

with Jerry.
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1 which means he was very angry
2 where | saw the musical
3 which makes me sad
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1 which was founded 2 who was the inventor
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1 Whoever 2 whomever 2 whom 4 whatever
5 when

\ HEAP} §1092 Who'= & 4 G108 w7} ~3HZ0fRte o

2 U7t 2ol Azt % BT A A0 S EX| M2t ECt
» MSAZL QOB 2 whomE & 4 QIOH ~5t= AR =
E0[2t= o7t HHSIEE2 whomever

3 50| st Qe O AldE L 645400

» MAL U B2 HHUHHA whomO| =

14  G-ZONE

I3

T

M
N
g oo
jo "élw
ob
G2 TIr
2y
ro
40
>Q
i)
rn
A
ng
pal
OII
HJIO
§
i
I'\I'
oolI
E

v

rx
=3
=
S

2B = whichEe 2 & glen] ~ote A2 F10|
0|7t MAFIE 2 whatever

OjA X, 30 L= W2t 25 AReiths 2 THEUTE
At the timeO| M2tE 2O 2 ~&t If'2h= S20| FO0{0f

2 when0| H&

(3]
v
L
o
02 =}
il
rr

on
|0
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1 which — where[in which] 2 where — that[which]
3 with who — with whom 4 O
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1 Whatever you do 2 wherever you want
3 However expensive it may be 4 Whichever you buy
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A Whoever B 1 whom, who, that 2 in which military
officers rated their soldiers @ @
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A 1 what 2 that, whom 2 that 4 whichever
that were dipped, dipped & why, that, v/

to whom
B 1 | have two brothers, one of whom serves in the
military.
| recently went back to the city where | was born.
This is the only song that | can play on the guitar.
I'll never forget the day whenlthat] she left me.
This course is for students whose first language is
English.
Tony doesn't have a cell phone, which makes it hard
to contact him.
C 1 (that) 2 (whom) 2 (that was) 4 (that) & Qig
%g D® E® ® F® that— which
G 7 (A) why (B) what (C) whatever 2 one reason that

people get tattoos
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Sajt 2| RpAIS Bl MTEL| Qs B w2feHoF S 2 QF0| Li= KR AlZto] 7] gict,
» Z0{9F 2EROI7F EUSID 2 KYHSAL ourselves » those days= W79 ‘1 GAI'S 0I5t AL S
Z X151 DML, BL] HMap AML. M0|1, ‘REFO|2H= 2|0|2| these dayse SIMAIKILE Sixfet
» make oneself at home: (Xi7| /) B Uck 2o 2 2200,
3 U7 2 AKION Cifol A4QIXIOlA B TGHR| ROIACHR L7} X 3 SREIS ES WS UM 2T Ea RASIT
517iC} » B43 YAiHeyes)S EiE 0|22 thate] 2480 those
XFO|ate =o| ZIE S O] YTHTAL in many respects H2 FoiA
= 4 Dean2 ¢1ZdtIs ot Haoi| 24t 12| QA= J0A =2

4 TE EoIFX| DML, J= XM T2 sof iLCt
> A H izt %’5101 Af2lolg| =012t X077t Cl2E2
him, & i gI7k2 22X 2= 2/019] by oneself
5 EFRE2 HFEZE 6l 7H0h I2E2 JR0IM S22 Al
2+ =LAt
» enjoy oneself: EH& A7t ELCH
6 P U0 I Z2OMS AL8ots WS TIEXME AZH0| ¢l
XA ZOL Y7t S&tsHor=Z.
g Mol Xt2lolh Foiet SXo7t L2 2
you, 5 Bl 9172 SX0| X2/d| F0{2 SX{0{7t SYot
B2 MHHZA yourself 1
teach oneself S&H{Xt&]otCH 2

0| ol ZL3MC,
» SHO0|H 2

2 him

Z0i(His doctor)2 Szt 40| ofL|=

D

o

S
of
O

1 Help yourself to the potato chips 2 Between you
and me 3 from that of the defendant

LI_I_ —|

» help yourself to: ~& OFgH= 2t
» between you and me: 22|7/2| 0§ZIC|
3 » PEEE YAHtestimony)E that22 &g

testimony &¢1 / defendant 11

1 ARY 349 Ze 0K EX| LULE
the, bulb, by, herself

b. tl M2 5

=
[>

EtY2 019l Zint JCHK| HH=X] g,

o
o
pl
202
x

25



Jessica Q| T LZHIHRXIL, T4 THe AS T2 AFEO|
QURACE JlHE= SXpA FHLCL
— Jessicas HTE St ZOLOF 3iCH

» by oneself: EXIA

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

Aarole B1®© 2 Youwill find yourself QT

A

A0 M2 OMHA|= AfLES2 LERFUAM US| Aeti=
Hol HE SEE ST oitt OfHXl= =012 O &71= 880l AU
OfM, OF0IS0| oML e] MAel HA-TH Bha [iet= YMHO =LY
HUNMHLz C2A LEHOIES O[ZHl sttt

» A0 AFE HAHa role)E T

=
ol
rr
—
>
Q

—

o
>
= A
(S e}
o njo
N
=N
2
o=
52
2
I
N
12
mjo
no
[
[
10
o
2
-
St
HN
o
0z

N
N
re
i
rir
o
Pal
rz
°
4
1%
fjo
A
Al
kd
$0

Ir
N
fjo
mO

m
il
2

QIHOIX| QUL
OlM that2 JEA'E ot RALZ MUCE
Al the teaching styleg Al

|5'| that

AUStZ 2 KHHHHAL yourself

Mc'!%ol R0l ZLUop| FHOot=S ZRSIC)

I
1o
ﬁ
ru
oH
|'|0
u
o

—_\d

2
™
Ao
o
[

rx
o
mn
rir
~ Oﬂ ©

mjo

o Ir
|'|J|0

=154
1%

v
4T
2
JHJ -
il
<
\dJ

o
oII

f

ol

2

Q Grace M4

rx
>~

0
oC
rlo

26  G-ZIONE

4 SECHEAL |
(some, any, each, all, most, none)

EXERCISE

A
1any 2 None 3 Any 4 Each 5some 6 All

1 X Gt MH|20 01551 E0t: gigLCt
»not ~ any ... 289 & ~ Ot
2 SAE B O0FRE 1 ol Hols ST,
» F0ll Tof + WAL LR 2 2 BHINHAL nonel| HE
3 0] /Y2 U4 Tha5ith OfH Of0j2tE & 4= Tt
» SYER0| X0 03t ~0[2t2h= Q0| LE= anyZt &
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4 MESS2 42 Ml Al HAES HXOF it
» each of + BFHAL + E48AlL ~ & 2K
5 149 L dS0= EFo| o 0|77t US HOE
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1all 2every 3 Each 4no 5All 6 each

1T Od J= 28Y 2H2E SUCL
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2 Uz 240t 2Z243g ghe 20| SCt
— every other year: Z{d2 2 2A0IC}
3 S22 AL ARe] B 4SS 7KK AL
P SAPE HSHOIH FHOf| Tof + FALZE LIRBE each
access code H& s
4 OIRE 42 7KK UX| §0M R2l= 25 HIof S HRACE
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5 U7t EQ3t A2 HX| E Orrel At
» the only thing(s)2l 20| LElL= all
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» HARR M0f 102k S22 UEEE 22 each



C

1 any — some 2 have —has 2 O

1 = AoIHA 25 & Z2tl 2FI;C:
» SYEUAM 22 2J0ish= some
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» "every + HEAL

3 1 Z9E NS HEE URE0| EUCL
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1 no longer afraid of horror movies
2 go swimming every[each] weekend
3 Most of his paintings were

4 None of these shirts goes[go] well

1 »no longer(= not ~ anymore): & O|& ~ QACt
2 » every weekend: ZL0OICt
3 » most of + BFEAL + AL ~2| 2R
4 »none of + SPIAL + HAE ~ S0 ST --0pd
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1 one 2 others 3 other 4 another, the other

1 0] 2742 KIXEHL, THRFH HO 2 FAIZ0I2?
> YUIN EE BAS 22 FRYS LIEIKE onel= a towel)

2 OfE ARMSS BT AIEIS 5PI2 SO0t L2 MFSS 57
#@712 spI2 Fofsic

» some ~, others ... OfH ARH[AI2 ~ CH2 MRA]2 -~
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2E 2 7ok,
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C

1 it— one 2 Anybody — Nobody[No one] 3 O
4 special anything — anything special
5 Either — Neither

T 4 0] 2t O{C|Af AtL|? L= St AR A2,
» ST 20| ofd 22 12 2BZlg OJ0IStEE onel= a
racket)
2 1 2Hle OFF Of2{RICh OfRE 1 2XIE 2X| 2340
» o0& OIRE ~ 24="2 2|0|2! nobody
3 0] 7| qiQlCt, Stt o Hol= EL?
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4 ERIGoj0 EEE A &
b -thingQ2 ZLt= U2
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1 look for another way 2 get along with each other
= get along with one another 3 Nobody[No one]
knows

1 »another: & 2
2 » each other[one another]: N2
3 » nobody: OIR& ~ §4=(= no one)
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the other was Beauty and the Beast, both
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REVIEW TEST 11

A1t 2 ones 2 someone, anything 4 No one
each other & another, the others

Blb 2a 3d 4c5e

C 1 each, has 2 Some, vegetarians, eat, others, eat
made, jokes, about, himself 4 is, physics, Maria,

wants 5 most, of, them, understood

D® E 1 amy friend — a friend of mine L& my friend
O Zit—one 40O &5 other — another
that — those

F (A) it (B) neither (C) both

G 1 ® 21slipped and fell during the second scene

A
1 A OHE0)] O] EMAS 1 Z 4210[0F,
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1 happy 2 lately 3 hard 4 rudely 5 happily 6 hardly
7 late 8 rude
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1 better 2 more economical 2 more quickly 4 worse
5 safer 6 earlier 7 more confident

» good?| HIWF2 better
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2 longer, than 3 less, heavy
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AT friendly 2 slowly 2 highly 4 comfortable & hard

living 7 silent & many
B 1 less, better 2 smarter 2 fast 4 more
C 7 as[so] proficient, as 2 the most challenging, (that)
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1 America, in, 1492
2 invented, the, airplane, in, 1903
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1 between his house and mine
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4 along the Golden Gate Bridge
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Q o] ofcoll U=7t?
— S AHE Qo) QUL

» on: ~2| {0f[EH0]

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

A® Bl ®@to® through © at 2 Y412 HHEZ0|A] H|ZY
7|12 3AIZH 20 Z320] ZAE ZiUct Q U=

ASES et 22E0|1Q? WEY ZUSE2 20| Xlot= M
22 RYHH. HE AS 0185t ULo|Lt 7ot ez S0l
HE i 2HO0IE F25 SHAZML. 123 #0| 2= Fa/f

©
Q
—
—
>0
D
Q.
]
o
=
fLHN‘

B
a0 7t Y
GeAZ2o §=229 Ko A0, g=0fl 7+ OrELt

% L_XI|7|
S Sohof BHLILE J2{10 LA E= HiS it Qs a4l

T 2

n

12

M=o 256 (F=) tEe SH0IXF X|7e ZHIHRl g=22 It
Of BILICE Zl2 MO HIRZ|2 3AIZE F0f F=0 =& A
jLct,
1 »®@to ~2 (BHX])

® through: ~& S35iA

© at: ~0f (XIH)
2 »at ~0f (XIH)

from: ~28H (EYH)

HAE LIEHY= HA[AL
(in, at, on2| 1'H)

63

EXERCISE

1on,at 2at,on 3in, on

1 OFZHHIO] AlefAlof CHt ZIAEZE 70T01X|0l QAT HOJX| K&
Ol Z[R =4 AKX AREIO| T
» (%) HoIX|of' 2ty B54E M= on / the top[bottom] ofet
SlHl M0l= A2 at
2 SoUPEE A0l Ut O 28 FE21
HE LIEP ME at / =35I E knock onlat]
At

3 0 X Q0N &2 = %S SOISHRI YTt J2iLt 71t o
Ol M2 o= 22 Zofeit

» car, taxi St 20| 2 WE4HE in / train, bus St

Tin 2in 3on 4in 5at,at 6 At,on 7 at 8 on

1 Jessicae S WEZ0f S0 LA

=

» in (the) hospital: & &2
2 HI7 W2HRO0N L= ARA QLA 71T
» 2E b5 LIEHE M in
3 O] R=0IM S=0| ofTfof] Q=X 712X FAIZAHK?
» on the map: XI=0IA
4 Lb= EALALZO] OfLITE AMY, Lh= AISO0IA ARSICE
» in the country: AIZ0A]
5 U otS2 sty S8 S0|1 W 2 2
k

30|ck,
» at school: stu0iA & =21 / at work: 22

o
M

=<
=25 =2

x
S

uu
2
ol
iz

39



6 UWAZOIM HEHOZ IX0| HY Z0|Ct,
» AI™S LEHE M= at
on one's left: ~2| 2AZ0]
intersection X2, WXt X|H
7 Tess= ©oll A= A 2R LLE. 247F OC|ol 25=X] SS5HTt,
» at home: ZJOfl(A)
8 1 Cfst HmAC| RH=0] UL?

» on campus: 0|

C

1 in the middle of the square 2 at a party, in prison
3 in the newspaper 4 at the traffic light

» in the middle of: ~2| 7}2C

» AALHAS T W at / in prison: =& S
» in a newspaper: A120i|(A)

» at the traffic light: 2SS0l

hWN -

D

at, at, in

(M3t S35t F)

A: HEML, Henry. L0k TS HOIM W2IAE. =8 L0 T
LiAY,

B: Lt 0|0] 2H| QHofl A0{. B{0] HF F4!

A: 12l 52 =0 J2i= 2.

» TAX|Z KPS LEH= at / 2te XIEE UEH= at / ~¢t

of A= As 22X W= in

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

A®@®on®in Bl ®@on®at©on@in 2 There are
too many people on the street Q F

°
ol
ot

40 G-ZONE

B
(Hst 83t 5)
Jake: O{EIMIL, OIC|OF? & IIX} J17| HER O[O,
Mina: LIz U HE2 0] 01, HIX|0l| StOFRU=E. Lt EOL|?
Jake: OfL, QF 204, 0iLt Z24? Zoj| AFZE0| HF Ol
Mina: 12, Lt 2004, O[] &O|L|?
Jake: OIL|, HA H2X 0|l U= HIX| Ydts HX|?
Mina: OfL, Z&X3t & HIX|OF,
Jake: . U I Xt ZHA0 QU= Al EHAEH HX]?
Mina: I8! ZFHOl ‘Mario’s Home-Baked Pizza'2f1 A0{QU04!
Jake: Q! L= ‘Maria’s Stone-Baked Pizza®llAl EXt 1 3t 740,
Mina: OiTH! L{7} 2otz M7KK| &2 MA R2)7F LIS 7|0 &
2t?
» @ O 249 M 20 S MW= on
© 3 XFoll /U= M= at
© HH /0] A M= on
@ wait in line: & MAf 7|Ct2|Ct
Q Minas X 7P OIM JakeE 7IEH2|1 QUACK

G4 T2 EN

EXERCISE

1in 2of 3 over 4for 50on 6with 7 from 8 by
9 for 10 on

1 50| Y0E AKXl Zop| WHE, St=01= = ol Xt -
26t}
» HOE SHOZ LIEH Of in
brochure &Z Ot 24X}
2 JPhe Dol AIMEE G 00|22 =X| kg =~ ULk

» die of: ~0 2 =L}

4 0] A= XSk AR RESIC
» 0|2 LIEHH= for

5 EHE ofdshe A2 MZ6HXICH S0|22 ZR0|UCL
» on foot: ZOA]



6 1 Al EAE QUOHFCE T2 JIH= AP| H2[He 2 X D
S45 Z31 oA
» with: (RIEEQI =7E) 7X|1, ~2 1 by, poor, nutrition
7 meads E, 42 187 22 MHS0IR YF2N 2=0|Ct 2 due, tolbecause, of / owing, to], was, canceled
> fr::l A7t Bl HEE AlEE & ¢lg M= be made 1 Rosel 10F HEOE 7420 SHPH UUCE
. » Rose had health problems caused by ~. = Rose had
8  OIAOIM L YFEE O|HYUZ B .
by + SAATE -2 health problems which was c_aused b){ -
tinerary 012 Y 2 JHE_ CHE Al HEO| 71 22 QK| A== ok HIA
9 U= 23 ZHol UACL 22iM HotE sl F o YAE At S .
i » due to(= because of, owing to): ~IHE0
» for: ~2 IHA
10 X7 230l 2ot 2 /3127t S Ao|ch.
» on: ~Off ©5HH (ZZ{Q! F=H”|0fl Chal Zet m)
GRAMMAR IN READING
A @ through ® on © about B 1 ® 2 try to take a
1 with, with 2 from 3 for 4 on 5 about 6 through picture with a flash @ @
7 at
A
1 gSwWrtHOo=Z MX| LD AL HOZ A2} KLt At 4 S0t Ol2L SIHS SIE| SHALICH MSOl= T 20|
i’ E!EI_-!?_I E—_'-LE |. I.LHl_ Wlth )\-Il;}';’:;gl_;ﬁ'-l Ij__—l-lg_l-o()”L ?;”EO-" ; o7 I:I§6|-||_IIHOI|__||:_I.
2 1 U2ts 0 020 7H20R IS ZUCL coee e coem e e
\ suffer from: ~2 ZiCH (I0|LE A7} $401) (_)II1| Sk EAL METH William Hartmann M7F A 5’78 Aol FH
oM P27t €1 Q= BE RS Ylcts SOITTIE ME K3
drought 7t& suCt
3 OfF Oz UE HIZSIRIXEL XHA0| S ofl Cial Al 4L, _
0128 LIEILYE= for ' g throi‘(jlhq ff(jfw ol st 2 1)
stand - up =8 MO © ot ~o1?ﬂ+6ri<;t5acuiﬁg;1| ot v
4 LE Qs tIRE & et E2Q7
» SXIS LIEE on
errand &85
5 O U Hol =2 SO o 230 st RUCE B
» HHAS LIEHND ~0fl Tioh2h= S22 sii4k= about QMESIMIR, M= VanessaLICh @5 M7t 0227 ol&2te ot
6 EYAIE SolA QAAESHE A B2 AlZt0] ZRICt Lifo = HYLICE X=00 oll YB=217] ol BN = 7H] &Y
» through: ~& S5}0] CE|JEULL BERIM ZFL MRS e A2 #EEUCL 12
interpreter SHAt Lt S2AI AR 2E2 F 71X 0|RZ S18SX| LEUCHL M=, Bt
7 L= stg0lM 0IR0iX= Q9] &0 SRICL X0l S2A| 242 HES oLl St L2 HEUSS 0l
» be amazed at: ~0fl =2tCt (?:PS—O- 20) ME St WS LA & 5= JAFLLL T BHWZ, AZH0] X|LHEA
0] S4E2 EH M=z ST B (&80 248 & &
UELICE THof 042120] Z2AIE 0[BcH ATl %2 SHACHEH 0f
C E2 XS U0 A B 7MY 288 NeFSS Walshs
ol YZSH Adl ARUX|E ZELICY
1 with — of 2 about — of 3 with — by 1 »0[22 LIEHH= M| for
4at—on 2 » ZYHel ZPE LEHE with
1 » consist of: ~22 0|2H{X|C} @ @Bt
2 » think of: ~& 4213 UiCt @
3 b by + STAE ~EOZM @ Al o
4 »rely on: ~0f 2IX|[S=]5ICt

a1

o
o
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65 Hz|AFE 2|o] He

EXERCISE

Mo 120

1 J4E Ltoofl Hish ofz] 2oIct,

2 1 7|XH= TA0| RASHS Skl [MHC
3 Susan =

4

5 19f 3lAks Thtkeh 7100 X3l QUL

go bankrupt THAFSICE

2 U == YEISHOF ST

7 = ZSHCZ Qs &
SR UE HOIR ARE MEdts A2 U8 580| 2271

/ biofuel HI0|R =

=2 Z0= gt

cost-effective HI8 80| &2
9 OIMEH HMAZH| RES SHMIR.
10 Ho|Lt HHZ ES &AI':'* gL,
11 147t g&2s Wors
proposal H[2k, "éé
12 SA27F 2 M2 J4= Z A0 23
tremble =L, H2|C} / testify SASICH

=

S,

B
1by 2for 3in 4to 5 On[Upon] 6 from

1 by + SAL ~Eo=M
5 » onfupon] v-ing: ~SIAIOR}
6 » prevent A from B: A7t BotX| 25tz Sttt

C

to, by, at[in], by

42  G-ZONE

HAIRIO 7t A o?
A 4

2YE FAIB7} Q01 U7t 4 10| T2 B3 Aoj HE 2

B: Z0H Union Si0flAf BILIRL EXHE EFT 7KL
» SRS LEHHE to / BXIE LIEHNS by / SH RAL XH
2 LEHHE at(~Ql'S 2%E Tis in% 7ts) /
EfLi= by

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

A being deprived with — being deprived of B T @ on
®with 26 Q@

A

A0 MEH Z0| ZA2HH HHZ AFZE0| REcHEICI SHCh
o2 02427t g e e & Xte 20| ZQ6l &
Ol 90| M2[ot= ARISUA AHIS] 72 E 7[5 A
Stk

» deprive A of B: AdIHIA BS tiStT

efeh ZRE ZLHE TSN Wels B S0M, 2R SME2
H A0ME T3P 20lE A32S MAfeh A0 AREYE #
il AZHE. 2 R2l= HE ZE UERASUL. 2] 2A] M
2329 i YH2 ZHM= HI0|E7E 20|X| =lis A
QILICE O] OR0IC|E =2 HEO|= AW Z28E 7Y HEE 256t

# YLILE. Xg7tkl= dRE 2HH0 EX[eHof ot= 2 2=
2 A3l S ofX|ZH Af22 AF2I0| JHE= Qlsh T =

FEHIE 2 227t |AEUL

2

|

1 » @ pride oneself on: ~0f| T XHEAS 2800 UCH
® with: ~2 QI5f (421

2 » @ from: ~0|A], ~22E| (BLUH)
@ protect A from B: AS BE2H =255ttt

Q @m0

[olc]

k) == i

=
oI5t 11

O]
@
®

o

REVIEW TEST 13

Alin 2at 2 outof 4 from & for & within

through



from
a/at

Blin 2to 3with 4by 5 at
Clc/to 2d/for 2b/of
D 1 posters on the wall
walking up the stairs
drop below freezing
E@ F® G (A) writing (B) by (C) in
H10
of his career

He pitched for five teams during the 22 years

A
1 HICOIM Yot= Ae ZO0t6HL?
> in: ~ QOfAf
2 LU= HA FREIM 202 S2F 7|CHCL
» at: ~0flA (XI)
3 O= golM Lot 28 20| I
» out of: ~2| 4feZ
4 O A HEOM AES
» from: ~22H
5 I LS Holigt 2ol DIetshete 2 2| Q4L
» for: ~t 0|RZ, ~ W0
6 T ZYXt= Y O|Lfol XpAle] SAHXIE LHE A0
» within: (23 7|28 ~ O[]
announce YHSIC}, A2|CtH / successor AKXt
7 QEYCE XG2S AMHE 0| 7HSOITil M2HSHL?

to4

H =5t

[e]]]

» through: ~& &

1 Cindy Ctai7t 2efsctn
L2

S0, 14

rr

20 S s AA
» be in (the) hospital: &5t
2 GO XSS OtEol OfEA SWEUN?
» to: ~2 (FHX])
3 JUE E50] 22 X UG FCL
» with: ~& ZHXI 1 (=)
threaten I35t
4 I OXh= 5HO| GARRlet HIXIS 7|4l UL,
» by: ~0i 2laH (IR
5 1= Xz Hn = oii 2l91S ofl QU

» at the moment: II:‘

» look forward to v-ing: ~

c. =E7E, J4E I HARIM

» to: ~SIE (ZE)
2 e 8K ez 200g2E
» for: ~9| Ci712

d. 2= LU HI7F @710 ok

» for: ~ S9F (712t2] Z0))
3 1 MMe URe ersoiN

»of: ~2 ThE (Mg + U= M=)
b. = AHOMHZ AP

» die of: ~2 =0t (%O.J)

QO
W
:
[mn
0%
N
u
m
o
=
)
P,E
=2
30
iul

D
2 »upr~2 fl2

=3

3 » below: ~2| Of2[~ELC} W2
Hate|ofl]

below freezing

@ Iz NSAZ H=s HAUC

K| Z19f OHHHA|2F Ofeigt Z40|C,

@ Chrise C+g

@ 1 HiR= & £0|M x| O{HLUE EUCE
@ H2 7HES0] Z7I0IM {11 Tt

® U7t 25 GAL W 717t LHE Skell Z3Rtc)

EF AR 20| ALEE

F

® 0| H|EH7|_ S T% o Q.

@ 0I5 UL 2= AE FoA]
® 52 HRES A U= AR

»in + 204 ~2 (L)

S AIRIOIN MAEIT oiFS0l ol Y4 4 UCHs HI wiet
oS BLh= 718 BR| M 0 9 2R Ok AXEL L
=2 Fojolef, A2 MY ARISO| Ghlel Ty

= 0|00 AKX
o

2 YEE H= A

njo go
o

ol

A g
Q

mjo

o
o
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b (A) SAE HEIALS] 207} SiH SBA)
(B) SIRIZ LIEF}= by
(C) *~etof'2 2lojsts in

HEHZ 0

H

Cy Young #(&)2 195601 Cy YoungOl2t= OF ME 72|
7| 2ol ASHA f TI= HOIME| 20 227+9] Mgk SOt Ot
K0 oM E2 FHACEL I= HOIXN2Z JAY FttEs 23
oM Of Foj2 | JOil AAZAUCE. 27t =1 1 = 19| 0|F=
TS0 HEEACL. 12 012 1 &2 Ui =119 F40H 40
O AL,

1T » QY AMHUMREE EE ASESE HEHHER since”t =0{0

6 2| Z2|, AAH2| EA

EXERCISE

A

1 was 2is 3ruins 4 were 5 hasheard 6is 7 Is, has
8are 9am 10 was 11 have 12 wear 13 are
14 loves 15 is

Cf.
> SI2TL Ci 2Z
2 30Z20[EE B ® 7oict

4 ST UR0| 5 B2 S| ZHS SR,

= = ==
» a number of + 24FALE 24 33
5 LHEDEORLE LY (ISME O ARS S2 H0| QICt

» ot only A but also Bi= SAH| HEY
6 1 AHMC| 3RO| 2= MU

24 + of, CHS0| 2 TS| 0 St HEfS Y|
7 ORATRIO| UB27|7} QU= AR UBUTN?
> -oneS 2 BLI= TAL= T 33
8 0| ZHo| wse CiRKeInt Fat & Eof QU

44  G-ZONE

10

n

12

13

14

15

1

C

1

T(in this hotel)2| & Z0{ The roomsdi|

SAte| HEHE LRI

HEA

v

JHE LE &8 O B2 LI0| EX| LUt
» 'neither A nor BiE SAtS| HEHE BO| 40 YX|
FE= E02R FAES 25 Yo SEX| L2 A2

Et
b= AlZHS LS| HRIE 7HRSHH H g

ZU-f Lt & & St Z0| 11 misHofl CHa 2&sHoF St
» "either A or Bi= SAtQ| HEISE B2l 50 UX|
{0tet ofth= = Ct 7+ HHIXIE Y=Lt

» "both A and B,= 248 SAE F&
Lh= At SHLEH SE6HCE LK 2] Zi0]Ct,
» the rest of= of Fl ZAL 0 SAte] HEHE UX|
RS Ml O ZER|D QU= O

» H2AE(who has three cars)Q 25 &
owner0f SAtS| HEHE AUX|
SiH2 ol 20 X|LXA 22 H20| U

» S B A

o
i=|
ng
0=
o
o

O 2 are —is 3 consist — consists 4 have — had

Jim2 AJHElS & et o
> FEO| AMIZE 2AOIH SEH
blind date Z2&= 0|48 A
20g2l= 02 Mol Zlo= X|g 6}7|01|
» FAUS LIEH = HAle B FE
DIEE=2 5071 ()2 0|20 QI
SHLIS| HHIE LEH = =718 He Fa
Li7t 2 ®of| 2514 O[oF7|3he mf, 152
UATHD LA
» ZE0| PAHAIHO| D, ZEH0| A O|XMEE A EX AIA
TR K&E dg LHEHER IRt HE

s
-

f

gets[got] up at 6 every morning 2 goes around the

Earth 3 the Gulf War broke out in 1991

1

2

3

> A2 HEO| A0 = AFRQI HS
F 7t (AIH| L] of|2))

> OFSPY AR 20| B0 = At
ALH| (A LX] 0f12)

> OIAE AHHE B

DAHAIH|LE SHRHAIK] 2

LHES LErE Tz SX

TEAAH (MM L] ofl2)

Bt ARTE RSA 2FE ALY

10
>
é
Ir
=
N
=)

Ir
i)
~
ro
L]

t

7H71M 24 S0F A

f



D

Our new Rotherham office, which will be our first
international branch, is now being built. About 30
percent of our annual budget is to be dedicated to
the construction. At first, some of our employees in
the US are going to relocate, but, ... (M2})

=2Apo| & | M22 Rotherham AtRAO| &
QLICE A7 oAt of 30MMET 7180 AL E oI
A 517} 0]FE Z{0|X|Bt, Z0ls X0|

=
e MY U
=

ol

N siel XA

M A =L

Lct @M

Rotherham 220 X

» EACHEAIES 2A1S = 30 Our new Rotherham office
Off SAF HEIE YXIAIA is / About 30 percent of Foil 2=
AL = Gl= YA budget)?l 0l SAH HEHE LRIAA is /
some of H0l 2= =+FAt employeestl SAt HES UX|A|

7 are

0] xeio Y

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

A @ represent ® determines B 1 @, © 2 giving,
shows @ color(s)

g SAte] FA K22 S22 ARES QUIFTL SAOIM LU
2t & TR0l tish Z0] HRFIL U= FAY 7t GO 2]
o HIE8S ZF 0I5 S0 3A0IM 202RE LRlst GHio|
10055 2Rat T g2 slAF (Ri2)9] 200029 18 &7
5t Q= o[,

» @ MR|IA of a company’s stock?l =AlS #h= 3201 Shares

Ol SAtS HEHE 2R

® "the number of + E4EHALE S G

o o

rCorn
o

Mlh

= MNOfCH 017 QURITE =S| MZ HA| o
: 0:II% =0, ZEHRI FHH0[49] ob|2E= =t 173,
Ch OFX|ZH SZ7HOf | B2 MOl FtH|01dE Bl A
g2 UEHHRIT 0F2

Zet At 0ol EHH0I. SteF
2 i AR, 234 FHH01d

=S (ald

Am

=]
=

ro
(o]
iy

oL A

k=)

30
fnroro >

.

N
o 0 1N

= Mo Ho
tldl m
o
i}

71l 9ru|ow° 2
[Ho18S F2 249

FE 22 gHe| 0rg

02

=
7

=

=

@
© HXIAMFY =215 H= =0 meaningsOil SAKS| e Y

67 st

EXERCISE

A

1 (that) | could sit there

2 (that) she would marry me if | were a millionaire

3 not to be late

4 where the keys were

5 iflwhether] we had read Shakespeare’s plays before

1 4= 3G s 7] e =
— JUE Lo 77| gfot= Btk 23ict
» here= there2 gt
2 JUE WA ZR T U7 HEREAREEE L Hoh 2E5t
2004”7
— JEE 20| L7t HRRSAfRLH Lot 2250 2R,
822 would= HESAIR| KL 2AGI0| HEWZH 2o,
P SAtE FEO| AFIZH HHHOIE ARIZH BHHA] 45
3 U AP LA RO SR DML
A L0 =X| 22t 3Tt
» BHEES ISP R HHE = QB3RS SAIE toR PR
B, notS toREAL 0l HA £39| oj0|S LiEfH
4 U SHO0| LAl SUCE “EA|7F o] QL0
— Ll GISH0] LA S47F 0fc] UL SOJEUTE,
» IBAPE U= QAR ES 7HHSIHO 2 TESHH Task + A +
OI2AL+ S + V.| 0z
5 MMFo] L2(0iH S0{=ACt X0 Shakespeare?l 5155
2101 2 H0| Y
— AlEe 227t Hol| Shakespeare?| 5l5& 2{0] & 0|
UEKX| SOEALE
» QBAP} Ql= QR ES THHSIHO R MEKSHH fask + At +

iflwhether] + S + V (or not),2| 0i==¢

|
oz

1 not divorce — not to divorce 2 how should she

o
o
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pronounce — how she should pronounce 3O 4 O
5 to negotiate — negotiating L& (that) we (should)

negotiate

1 52 Uo7 12t O|=5kA] Eakd SO
» ZDE LEHHE B8 FFE: advise + A + not to-v
2 Lisaz= WA 1 2HEHOE O{EH UScHOF SH=Lfl SO{EUTE
O|ZAL = SZE: ask + ME* +O2AL+S+V
3 O W AEe SHEA o =X F3oiRIC
QIZAPt = 92 2: wonder + iffwhether] + S +V (or
not)
4 2= O AAL I Alexe JE0IA 25 J7t & Z02f0 &
AL
5 Lee Mz IS0} IS EME CHA
» Mok LIER i suggestlpropose

oo
ol

ol A MIH3HC,

—

=
=

v-ing &
suggestlpropose] that + S + (should) + V

C

1 told them to be quiet

2 asked him to wait for me

3 asked her iflwhether] she (had) called the police

4 asked him to come back soon

5 asked her how she had done it £=
she did it

6 suggested that we (should) go to the theater =&

asked her how

suggested going to the theater

x|
(=]

o

0 Suec OFF THs
M2 SO

1 WOt Rh=0| 250] iR I HED JAUCL T2 L=
JIS0IA 285] otatar HCt
» S LIEF O tell + AFE + to-v

2 Mikee Mg ZH|7t =0] QUK L= JZX| Z3UCE T2

Li= J0i17 7|Chigate QF3MC.

» QS LIE I ask + A + to-v

3 oMl =717t Judyel Fofl EUSIACE J2iM L oA
QEOIA M3t =X SRACL
» QAL Sl QR ask +

break into ~0f &Jatct

4 Lb= JimOl HRL J2lg A ZATt JI2iM J0A Ee| S0t

Q-Eh_—' I:lErqu

1|3 UUCH A Lh= oA

At + iffwhether] + S +V

» QHS LIEHHE Task + AR + to-v
5 Marye S0l 22 =2 MEIUCL J2hA Lis JEIAH ofEHA
X SO
OIZAP} Qe OJ2E: ask + AHR + QJZA+ S+ V

6 LU= F3t5 210 AUCE 22N SEO ZHRD JQFRIC

46  G-ZONE

» M|OHS LIEHS [ suggest that + S + (should) +V =
suggest v-ing

D
not, to, quit, he, knows[knew]

Joe: L= M=

Sara: U7t £oig 3H0F X 7| FIK|= Yl Y2 J8HEX| Ot

— Saras 107 RIS SioF EXIE 27| TR g 9] &
2t Sct

» HHES 7SO E HHY 5105 LIEH Of: advise + AR +

(not) to-v

oo |'-|0
rr§
o
il
O
i
0=
JN
S
=)

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

A he said (that) he never meant to harm anybody F&=
he said (that) he had never meant to harm anybody

B 1 ® was ® could 2 he told me (that) if | wanted one
of the cameras in stock, | would have to pay $799.
Qo
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EXERCISE

A

1 nothing but 2 can't, without 2 no longer 4 Not all
5 can't, too 6 the last

1 0 ZAS ARFE QF =02 £40] UTE
» nothing but: ©X| ~2H= only)
2 J4s 1 LdE S°H I 2Lt

o
il

» not[never] ~ without v-ing: ~5t EIEA| -

3 = He 1 RUEs &K =0

» no longer ~: B= ~ 2CH= not ~ anymore)
4 HE NS0 MZE E0toks A= Ot
» not all ~! 274 ~Q1 232 OtLICH (REEH)
5 sletEEs UE W 0R2 2T XILEXIX| 4T
» cannotcan't] ~ too ... OtF2| 3P ~SH= XILIXIX| 4Tt
6 ABC:= W7t 71K b2 43MEL) A7|0ME 2= X0| HIMf
Ct.

» the last + GAF + (ZAIAE): 71~ A 2R &2 -~

1 have you 2 didn't she 3 shall we 4 won't they
5 isn't there 6 willlwon't] you

14 0] # oF gjojgix|, THAP

» A0| AZHO|H BIIIRE SA= havelhas/had]
2 Jane2 %A THZ01N AS WRL0|, T2 LI

» Q0| UPESALO|LL BHAIHO|ZE B7IO|22 SAt= didn't
3 7Ol g & ONBEN 2= 2 g7t 82

» Let'sZ AlEfotE 232 2IIR22 shall we?

4 2SS RS S| ol A THE 210 IR AL

» 0| ZEAL willO|2 2 2R E SAt= won't
5 O7|12l & 0|45t 40| U0, JZX| §4LI?

» 20| there is If 2712|222 isn't there
6 B g0, T2 & AHXP?

» HHEO| B2 22 willlwon't] you?

C

1 is it — is there 2 wasn't — was 3 couldn’t — could

1 0] 7H2i0ol= o AYEYE Ql0f, OEX]?
» 0| there isn'te If 27|22 is there
2 TAOl= SA0] A2l HOF QK| LULE
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there is hardly anything in your closet
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A Not, all BT @ 2t=EA| X|28 Z40[2H= 9|0} OfL|Ch
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EXERCISE

A

1 did I dream 2 had | gone 3 you taken the bus

1 L= 0] 20| %HI o] Q2EtlE Mol oY= 2 M
» 207 25 W AOZ LIQH FO{ SAPH EX|

2 L= X0 SAOR HetS 2
> FEOWLEY U U2 URH Tt SAVL EX|

3 Dol W7t HAE SIEEHH, oF SAUS Hibl.

» 7HE 2HOIM S M2rstH F0{F SAPE XL

1 atall 2 on Valentine's Day that he proposed to her
3 an action movie that we watched last night 4 did
get the job 5 the very 6 not until we need it

1 U= 1 &7 BX 230

» notlno] ~ at all: Z2&= ~ OH—IEf

48 G-ZONE

» 29| LE0| Adoj2ks g &St Z2&AE doldid]
5 30| XZ L7t LEIE HiZ 1 AF0[01L.

YAIS ZXE [ the very

v

6 Heg mrt EHo{MOf H|Z2A R2l= 20| Lot QK| e
=t
2, 3, 6 » "It is[was] ~ that, ZEFZ0IM= ZZ51 42 LS

It islwas]2t that AtO|0f =Lt

C

1 on earth, coming to 2 was his confidence, attracted
me 3 is it, you want

1 »onearthe ABAPI U= ARES LTS I A
2 »ltis[was] ~ that: -8t 242 HIZ ~0|Ct
3 » YBALE Mt isfwas] ~ thaty ZETRO 2 ZUXRGHH TO|ZAt

+ is[was] it that ~,2| 0{2=0| =T},

D

1 the book is — is the book 2 so | did — so did |
3 realized — realize 4 when — than

T W7 {0 AU 20| X710f QAT
SAlthere)7t 2% M A0l M 02t SATL EXIE
2 ¥o| 2EHE 25 YUY, U= IO,
»so+V + S 0lIM 3 2Ol Cisl ~= Bk THECFaT o of
3 L= Wo7F 88 A0l M1 Ath= As Al X =JUC
> SO Ol 2t LRFESAP EX1E Ts TREN +
doldoes/did] + S + SAM¥.Q| Ol
4 AY0l NHZRIOLRL, f2)= o 22 UL
» No sooner A than B = Hardly A when[before] B
AGFAIOLR} BT

Neither have |, so do |

Al 22iF0t THEJ0) 7F = X0 glo1.

B: L= 12, L sHIE e EZ 20ial.
AL g, Uk T2f, B TEZ2 ot A 20 U= LTAD] L =
83 EfI0IR0L

> AOIAM B 2Ol Thal ~& B OfLTH IR 21
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A nor they can — nor can they B 1 did Ferrari create
a marketing department 2 it is the quality of the

product that companies should try to perfect

Q Dreams
A
2 20{0F 5HX|? A=A0llE TS A4A0] S Hot 28 & U=t
1 AHIShHE ARIER AAR OGiEA ECh AR s d2M RS
US = 9L, X 2 & Qith 0] ZE A2 WR0| 227} X
LIRA AB K= A LA
» 2M0(hor)7t 2% M 0l LI F0{Qf SAPL =X

71 E0iCHE Y|

0|Z2I0te| ARLXTIQL AFE XHSAF MZEAIR! H2t2l= AACIA

71 QIX|E &2 30 2HHE F SHAOICE 0] FAt= RO =3

20| MIAIQ] DY 7| 7HROIM B2 =& HUCE HEzt2l= 1993

CH0foF HIZA DAY 2AS AMRICE H2t2lel 432 429 3

DloRE HOE BZlsk |0 S&sith=s XS

A7t sy BHE2dll L 3sHoF

M, DE JANES BS FXZGHA ZOtof S

1 » 230 7i7t2 2J0jQ] onlyZt 2% M A0l 2T 02t SAPL
CXE

2 »ltis[was] ~ that: -8t 242 HIZ ~0|Ct

Q 7|99 43 HlZ: #5 Zotzt

70) e sy,
B4 20| 72

EXERCISE

1 have to (leave) 2 any (pens) 3 (it is) 4 Diana (ate)
two oranges, Jerry (ate) three bananas

1 710f 3 g 7t Eht
» HELE= SAS HEFA to= Tt
2 UH7F Emma0ii7i| HO| A AR 201 24,

Jerry= HHLILE A 24

» RIS SAl ateS 42

1 listening — listen 2 watch — watching
3 play — playing 4 what — that

1 Marye A, 22 J2|10 39 24 ZO013MC
» like2l SHOZE 0N toRHAIS A1 Fol= to7t M2tE
HYEHADL LIC D2 | isteningS listen2 2 MOF &t
2 Ie 'E.JOI e DH°' CNNE AIHEOZM HOE SHAAIZILL
2 SHATH EEEUAS 015
3 L9 $—|D|t %2# H7], HALO|E E2lsp|, BLA St7[0|Ct

oN

» SHAT going ~, working on ~, and playing tennis7t
HELHE 015
4 b HIEES 87110 AChs MZ0] LIS i F7HAIA ZiC
» thought= 84ES 0|I= F2 FAIZ, HIZ Foll whatO]
OFd Tt thatO] 2toF &t

I'

C

1 want, to 2 afraid, so 3 forgot, to 4 hope, not

1 ASZ7000 2 AHL?
B: OtL, J22{11 X Lo,
2 Al Tess7t =40 Z23L?
B: OfOF 721 74 Zop =
3 A Tommy, % Ab L7
B: Z&sHR, M7t OZ2 Ao
4 ALY HIZE 278
B: oF o™ Z20f. AZE JPIZ =Ho| UNHE.
1, 3 » BI=EEl= SAHE UIREA toZt DA
2, 4 » I'm afraid so.(= I'm afraid that she has the flu) R2
AZAE T / | hope not.(= | hope that it will not
rain tomorrow.) 2 EX| oM Z2iCt,

=0| et Z0t =0[2t,

D

1 The heavy rain prevented us

o
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2 little help, if any
3 forced her to quit her job
4 Her mother rejected the idea of living

» FHE 01 + prevent: ~ W0 - 25 =|Ct
2 »ifany: ZS0[2t= QJUCHH, UKD SHE2tE
3 » 2ME 0| + force: ~ 20| 01 = 8{0] -5t
diabetes E=
4 » A of B, HEIZ M0 54 FEOZ of 0[5V} ideaS THIH
oz dHg

nursing home Y28, 2Y4

done, so
— eat pancakes with honey and butter for breakfast
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A @ (they are) doing ® having B 1 12t9| A& &0
= 2ol 74 Fold 27t & 2 2R S We & UUCL

(while they were) reading German ghost stories
around the fire Q@ ®

A

QE5Ho & HE2 OX =0t Hie ole B0l glitt J52 =2

HHA =S L7 A0 $ICh RE WS FEME X2 22 AN

2lE |5k, 7tES BYot, E0kot= Ag & + U= =01

Che A8 SSSHTh o HE2 Y9l o7t =7|E |okX| efelt. s

2 5t E7|11 40 5P| = Stk

» @ EAE while they are doingdllA "F0{ + beSALIH M=
42 E= 2AEY 007t ol S2XSH 2822 HHGH0]
they do2tl! £tz A= Ttst
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0|2 HIWAES OIF
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REVIEW TEST 14

A 7 has 2 lives 2 have 4 have 5 is & broke out
B if, he, that, she, had, finished, before[earlier], how,
he

C 7 doesn'tit 2 willit = anymore 4 until 5 that

not 7 on earth @ if ever
D 1 Barely had she entered the restaurant when she
saw him.

Not until the war ended did she see her children
again.

Out of the room walked two women wearing
sunglasses.
E® F® what— that
G 1 (A)is (B) did Tom give (C) goes my stop

While he was reading

A
1 ZiZo| ARol= EI1e| agalo] &3 Qltt.
» each= B4 F&
2 QAAEE T T OFFE AL HX] ¢4=C
H2 RIEXE0| 2] HEO] 2t
YALE 54 52
applicant K|}, AEX}
4 Johni} OI0IS & ot 20| 0] HFHO| MAS KMOF BTt
» "either A or B.= SAtQ] HENS B2l 401 x|

» "a number of + 24

5 BSEAAE EOE% 2H FD[C,
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pol= )
> A AL RO AIMQL SEGI0] 2AHANZ 220

Tom: Al 5t= A
Kate: 8, =2t Z201.

Tom: SHiOf & A B2 ZL0|4|. Wi A= Lot Mol ER=0.
Kate: HEA JZH wa| BY & QUL

Tom: ASZA HAIE RO Eg HE O HIZAE.

— Tom2 X717} KateQ £HE TR T ==X Y1 Ao
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JUE EotrH S0 HERICE Tom2 JE7F o0k & A B
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Ol JH0IA ZRUCE 2= 0 6EA 2ZA E2 Ot &
UAASA| SR D= ASEH EXE HOHHM 5 OF HIZ
I ER

key SHEf / reply CHESHCE
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1 27t E 7R 3¢ ZME0IM SLUSHK], IEX|?
> A AL LULSALO|H FXHAIKO|E 2 27t Z2 22| SAt

= doesn't

2 ZASCH0 oM HE OHE Al ol A0k JZAR
» Q0| ZEA won't7t UL 2 BIIO|2E9| SAH= will

3 Jones M7t 04T15| ZA1 HIMYJLZF? — Otke, JIlH= B 0
OllAf USER] r&LICE

» no longer(= not ~ anymore): & 0[4 ~ OfLIC
4 12% Y3 Qe | Molls 52 YHE SO0UIX| %2 A0|
ct.

» not A until B: BE TH7kX| ASEX| 4Tt
raise (23) Iy
5 OfEl: E2 AFRHEE otog AB0IM Atz A8 MS5 ot
A2 Hiz 0r29 etz 3 oot
» the peaceful surroundings of the villagess It is[was]
ot that AtO0| & ZZFE
surroundings ¢ 4
6 TI47t U7 — QIERAX|Z OF & HOF TIlH= wadat 2f£0]
01,
» not0| £ thatFS th4l(= I'm afraid that she’s not
coming.)
7 U EOiA| OfEA 19| HIZS LOFRLI?
» O|2ALE ZEE I on earth, in the worldE AtS
on earth =4
8 Brian2 St0|Z0IC}. I= ks T SHEHEIE, MY 3Al X
Ol= &MY EX2|o SX| 2=
» if ever: &AL SHCIT 5FE‘|EE

night owl 2= XX| gh= AR, St0|=

2 TM0| ZUL LMo T = OI0IS S CHAl & & URICE
» 2HOI7L 25 M A0 QT R0t SAE =X|E
3 MI2AAE 71T HAE oM Z0] LIgtCt
out of the room)7t 25 M A0 LTA Ot A
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inevitable E7H13t / dominant X[HHXQ! / sensible 22
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G

Tom2 HAMAM TE Fa7te] EXIE ¢ 42 A2 g’ith 1
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o2 Mof gt
(B) &2l 2jojof| 717H2 Only7t 2% ol YeE 2 F0{2t
SAZE EXIE
(C) thereZt 2% 20l A2 B2 F0i2t SATL EXIE
2 » RAE| F07H FHO| 02 22 HR 0] + besALE

M 4 QU

A
1250 2250 350{ 4 280{ 530f 6 £0f
Z0| ® Hof
1 CH0| 2SS aHoF EX YT QLI
b TOIZAL + to-v7t SE0f
2 U 1 2S2 HF oD At
» toRHARIE SAL hope?l 0]

face to face =T
3 O Chof SE HHlE A2 S7HSSIN
» [t2 713010|1, to R ™AL T
4 Li= U7F LY oFEloll AlZto] A=X| S35t
» if7} 0|11= HO| SAt Wonder9| S0
5 ME.':.*ZT‘—P 2 WS W= Xl Lk

% M 11 4ES EAIY AA7H0IH,
» QZAHEO| =4 B0
7 LS 7P MBM ot A2 19 L AAL O =O|CE
» @ EAZAL whatO| 0|T1= HO0| 0| ® AL =2 20

1 Taking a warm bath 2 that Jack and Jenny will get
married soon 3 Where the king's grave is located
4 What you throw away now 5 to keep the park clean

1 O 20 S2ots A2 1 29 2EYAE ofjdsl 4 UL

K

rs

02
=
-+
)
Bl

2 Jackdt JennyZt 207t AESI2|2k= J2 HUMGITE

52 G-ZONE

b It2 71301, that®0| Z2F

3 &9 20| otjof U=Kl= OIAHZ| 2 ot L
» where7t 0|T1= 22AHE0| F0{

4 XZ U7t H2l= 0] Y2 "o 2 =k UL
» whatO| 0|Tli= ZHAFEO| 0

5 HEN IR0l S-S MoK |XISk= 20| OECh
» it 701, toREAIL T

C

1 to be a world-famous actress / C

2 whether his answer was correct or not / O

3 what their children are good at / O

4 how to treat each other with respect / O

5 that artificial sweeteners are as bad for your body as
sugar / C

1 Lo B2 MAXCz REst K7} == 20,
» toRFAITE 4 HO

2 15 X}7| l:r0| mhﬂ ‘:'O'”:f.
» whether?t 0|T1= BA

3 REE2 A7t Fog A=Al Lotof Stk
> gl_l'__)\I.X‘lol EK‘IO-I

4 2= MEE EF5H= ﬂ% H{R{OF BHC.
» "O|2At + to-vs OI517t

5 =M= 340z QEUE 0| EX| ¥Ch= Ao|Tt,
» thatZ0| 2| =0

artificial sweetener 212Zt0|2

D

1 how the public will react to this case
2 whether you agree with our decision
3 What | want to do in the future

1 » how?} 0|T= S2AHHO| 2 HO

react to ~0il BFS3tCt
2 » whether7t 0|I1= HAFEO| tello] AFY=HO
3 » what0| 0|T1= EAAMEO| 30

@ to go ® important © to gain @ how | can get

Al 2ol Ko 7HY 2 |EE HoR?
B: U A=l2 RECR NS Witz 7{0F U LTAL], 7Hs
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A @ Building good relationships with others ® How
successful ~ other people B 1 @ 250 ® 0| © 20
Wear — Wearing @ @
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2 » 20| X200l ST} 0 B (toRHAIE F

7 =22 H0{2| of3}

EXERCISE

A

1 to turn 2 encouraging 3 walking 4 cleaned
5 know 6 acting 7 to enjoy 8 to reconsider 9 shut

-

1 BHEZ0 FE A5 S
» cause + X0 + to-v: ~7t -
turn sour A|O{X|C}, ASHCE
2 19| M2 8718 S T AoIUL?

> SE{0fet SX2) 207t 20y 559 A0SR HTA

OpA| TSLF

encouraging
3 L= S2/pHol 2 Boz Zojee A
» XZSAe 802t S84 ot 5
A MM S2f-AHA0] T ZRis &
4 Us WAM=ItOs 3 ER.%'W(I A
» 2R0{Q} 2 X7 HO{7
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5 I Ar0] SHZE Fol Atde
> AISANR] SX02F XA HO7t 532 BAY o
HOIZ HAHRHME &
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» allow + SX0| + to-v: ~7t & £ A &
8 Lhk= O50| 229 Mets MusHE ot =8 SO0k,
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9 ZIIR Hol= 22 H0lF=  £8 7ok
» keepQl SX{0{2F =12 20{7} —IUIg
&} shut

SO ZA0I2Z 1t

1 a walking dictionary 2 awake 3 blushing
4 upgraded 5 to get out of his car 6 really hard
7 keep diaries 8 crying
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1 2E MO0 28 Z0f HLiE Aot R0
» AL 55 20
2 0] 2f2 12A12F S2t 4E 7H0f QU & X0|Ct.
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3 OUE BNM €20] ®IHRlE As LA
AEAPE FHZ 20
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» toR AL FHE 20
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